
	National 5 Homework Exercise 19
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	Vectors
	

	

	Issued by:
	

	Return by:
	

	

	1.
	Vectors a and b  are shown opposite.
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	a)
	State the components of a  and b .
	

	
	
	
	

	
	b)
	Draw and state the components of:
	

	
	
	
	

	
	
	(i)
	2a
	(ii)
	a  + b
	

	
	
	
	
	
	
	

	
	
	(iii)
	a  – b 
	(iv)
	3a  – 2b
	

	
	
	
	
	
	
	

	
	c)
	Calculate:
	

	
	
	
	

	
	
	(i)
	a 
	(ii)
	a + b 
	

	
	

	2.
	
A white snooker ball is hit towards a red ball. The white ball initially follows the vector .

	
	
After hitting the red ball, the white ball changes direction and follows the vector .

	
	
	

	
	a)
	What is the resultant vector which describes the overall movement of the white ball?

	
	
	

	
	b)
	Find the distance between the white ball’s original and final positions, given that units are in cm.

	
	
	

	3.
	F is the point (5, -1), G is the point (9, 4) and H is the point (-3, -2).

	
	

	
	


Find the components of ,  and .

	
	
	

	4.
	● N
● M
E
G
F (8, 6, 4)
D
C
B
A
O
z
y
x

	

	
	
	

	
	
	OABC DEFG is a cuboid. F has coordinates (8, 6, 4)

	
	
	

	
	
	M is the midpoint of side BF.

	
	
	

	
	
	N is the midpoint of side DE.

	
	
	

	
	
	a)
	Write down the coordinates of M and N.

	
	
	

	
	
	b)
	[bookmark: _GoBack]Find |MN|

	5.
	

 and . Which vector has the greater magnitude?

	
	R
Q


	6.
	PQRS is a parallelogram.
	y
S
● 
M
x
P


	
	
	

	
	M is the midpoint of diagonal PR.
	

	
	
	

	
	PQ = x  and SP = y .
	

	
	
	

	
	State in terms of x  and y :
	

	
	
	

	
	a)
	PR
	b)
	MQ
	





	
	Award 1 Mark for each ●
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